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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.
This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.
In Part-1I of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.
Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.
Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.
Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

In which year did the big European Powers meet in Berlin to complete the carving up
of Africa between them?
(A) 1885 (B) 1890 (©) 1914 (D) 1918
OR
Whom did the British government appoint to supervise weavers, collect supplies and
examine the quality of cloth?
(A) Jobber (B) Sepoy (C) Policeman (D) Gomastha
OR
A variety of steps were taken to clean up which one of the following cities.
(A) Chicago (B) Berlin (C) New York (D) London

Which among the following is referred to as the ‘Bretton Woods twins’?
(A) The IMF and the World Bank (B) The IMF and the WTO
(C) The World Bank and the WTO (D) None of the above
OR
Which among the following cities had trade links with South Asian ports?
(A) Masulipatam and Hoogly (B) Masulipatam and Surat
(C) Surat and Bombay (Mumbai) (D) None of the above
OR
The very first section of the underground railway in the world opened on 10th January
1863 between which two stations?
(A) Farrington street to Bakers Station
(B) Paddington Street to Farrington Street
(C) Paddington Street to Bakers Station
(D)

D) None of the above

Who among the following agreed to revise press Laws?

(A) Lord Cornwallis (B) Lord Dalhousie

(C) Governor General Bentinck (D) None of the above
OR

Who among the following is the author of the novel ‘Mayor of Casterbridge’?
(A) R. L. Stevenson (B) Thomas Hardy
(C) Charles Dickens (D) Leo Tolstoy

Who wrote her autobiography ‘Amar Jiban” published in 18767

(A) Tara Bai Shinde (B) Rash Sundari Debi

(C) Pandita Rama Bai (D) Kailashbashini Debi
OR

Who among the following did not write about colonialism?

(A) Daniel Defoe (B) Joseph Conrad

(C©) Rudyard Kipling (D) None of above
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Which one of the following is not a renewable resource?
(A) Solar energy (B) Wind energy
(C) Forests (D) Fossil Fuels

Sunderban National Park is located in which state?
(A) Assam (B) West Bengal (C) Tripura Gujarat

Nagarjuna Sagar Dam is built on which river?
(A) Chenab (B) Mahanadi (C) Krishna Satluj

Which one of the following is not a cropping season?
(A) Winter (B) Kharif (C) Rabi Zaid

Which one of the following communities is not related to SriLanka?
(A) Sinhalas (B) Indian Tamils
(C) Parsis (D) Srilankan Tamils

What is the percentage of German speaking people in Belgium?
(A) 59 (B) 40 (© 60 (D)

Which one of the following subjects is included in the concurrent list?
(A) Banking (B) Trade (C) Police (D) Education

What is the percentage of Literacy rate among women in India?
(A) 54 (B) 58 (G 62 (D) 76

Which of the following is true of the people’s goals in addition to higher income ?
(A) equal treatment (B) freedom
(C) respect and security (D) All the above

The developmental goal for a girl from a rich family is :
(A) To get more days of work

(B) To get as much freedom as her brother gets

(C) To get electricity

(D) To get better wages

Which one of the following occupations falls in the tertiary sector ?
(A) agriculture(B) dairy (C) communication (D) forestary

Identify the feature of the unorganised sector?
(A) Rules and regualtions are followed

(B) Workers enjoy security of employment
(C) Employment is not secure

(D) It follows some formal processes and procedures.

1080716 - C1




Part 1I

Mention the three types of movements or flows within the international economic
exchange in the 19th century. 3x1=3

OR

Mention any three restrictions imposed by the British govermnet upon the Indian
merchants in the 19th Century ? 3x1=3

OR

Who was Ebenezer Howard? Explain the principle of the Garden city developed by
him. 3x1=3

Explain any three reasons for an increase in reading mania in Europe in the 18th
century? 3x1=3

OR
Highlight any three Social changes in Britain which led to an increase in women readers.
3x1=3
How did the print culture assist the growth of nationalism in India? 3
OR
In what way was woman depicted in charlotte Bronte’s novel * Jane Eyre’?

Why were manuscripts not used widely in everyday life before the age of print in India?  3x1=3
OR
‘Drawn from various Strata of Society, Premchand’s characters create a community

based on democratic values’ substantiate the above statement with examples from any
of his novels.?

What are the three stages of Resource Planning in India ? 3x1=3

Which three human activities are responsible for the depletion of flora and fauna?
Explain. 3x1=3

Describe any three traditional methods of rainwater harvesting adopted in different
parts of India? 3x1=3

What is the difference between the policies adopted by Belgium and SriLanka regarding
power sharing arrangement? 3x1=3

‘Social division takes place when some social differences overlap with other
differences ? Justify the statement with the help of any three suitable examples. 3x1=3

‘How far is it correct to say that Social divisions exist is only big countries like India?
Explain. 3x1=3
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What are the factors other than the caste which play a decisive role at the time of the
election?

Explain any three main aspects of measuring Human Development Index according to
UNDP Report of 1990. 3x1=3

What is meant by Economic development? What are the two bases of measuring
economic development of a country? 1+2=3

Highlight any three differences between intermediate goods and final goods?  1v,2+1%2=3

Why has the government taken up the responsibility of public sector activities in a
country like India? Explain any three reasons. 3x1=3

What were ‘Corn Laws’? How did the abolition of ‘corn laws’ affect the people of

England? 1+3=4
OR

Describe any four impacts of Manchester imports on the cotton weavers of India.  4x1=4
OR

Mention any four of entertainment that came up in the nineteenth century England for
the common people? 4x1=4

Study the given diagram and answer the questions given below : 4x1=4

Dipped goods

. 5.1%
Orhc{,)rs Latex foam
8.7% 5.1%

Belts and

Footwear
11.2%

Auto lyres\
and tubes
44.5% . ; Cycle tyres
& tubes 13.3%

33.1 Which crop is used for making the goods listed in the diagram?
33.2 Which types of goods occupy the highest percentage?

33.3 Mention any one climatic condition required for the growth of this crop.
33.4 Name any two major producing states of this crop.
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For visually impaired candidates and in lieu of Q No. 33

(a) Which crop provides raw material for goods like latex foam, tyres and tubes,
footwear etc.

(b)  Which state in the north - east produces this crop?
(c) Mention any one climatic condition required for the growth of this crop.
(d) Where does India rank among the producers of this crop?

Describe the three fold distribution of legislative powers between the Union government
and the State governments. Who can make laws on the subjects which are not covered
under these lists and what name has been given to such subjects ? 4x1=4

Describe any four factors that have contributed to the growth of teritiary sector. 4x1=4

Three features with serial number 1 to 3 are marked on the given political outline map
of India. Identify those features with the help of the following information and write
their correct names on the lines marked in the Map.

1. A type of soil
2. A Tiger Reserve
3. The leading Jute producing state
OR
Locate and label the following items on the same Map.
(a) Sardar Sarovar Dam
(b) Corbett National Park
(c) The largest producing state of Ragi.

Note : The following question is for the visually impaired candidates only is lieu of
Q. No. 3e.

Answer the following questions :
36.1 Name the state where Sardar Sarovar dam is built

36.2 Name the Tiger Reserve of Assam

36.3 Name the leading Ragi producing State of India.
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